 EQ \b(x+2)\s\up8(2)+9\b(x+2)+20=0 
 EQ \b(x\s\up8(2)+4x+4)+9\b(x+2)+20=0 
 EQ \b(x\s\up8(2)+4x+4)+\b(9x+18)+20=0 
 EQ x\s\up8(2)+4x+4+9x+18+20=0 
 EQ x\s\up8(2)+13x+42=0 
Находим дискриминант.

 EQ D=b\s\up8(2)-4ac=13\s\up8(2)-4·1·42=1 
Дискриминант положителен, значит уравнение имеет два корня.

 EQ x\s\do8(1,2)=\f(-b±\r(D);2a) 
 EQ x\s\do8(1)=\f(-13-1;2·1)=-7 ; EQ  x\s\do8(2)=\f(-13+1;2·1)=-6 
Окончательный ответ:  EQ x=-7\;x=-6 .

 EQ \b(x-5)\s\up8(2)+2\b(x-5)-63=0 
 EQ \b(x\s\up8(2)-10x+25)+2\b(x-5)-63=0 
 EQ \b(x\s\up8(2)-10x+25)+\b(2x-10)-63=0 
 EQ x\s\up8(2)-10x+25+2x-10-63=0 
 EQ x\s\up8(2)-8x-48=0 
Находим дискриминант.

 EQ D=b\s\up8(2)-4ac=\b(-8)\s\up8(2)-4·1\b(-48)=256 
Дискриминант положителен, значит уравнение имеет два корня.

 EQ x\s\do8(1,2)=\f(-b±\r(D);2a) 
 EQ x\s\do8(1)=\f(8-16;2·1)=-4 ; EQ  x\s\do8(2)=\f(8+16;2·1)=12 
Окончательный ответ:  EQ x=-4\;x=12 .

